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ESTION BOOKLET 
INSTRUCTIONS : + 
1. Please correctly fill your Roll Number in O.M.R. Sheet. 

Candidate will themself be responsible for filling wrong 
Roll No. 

2. At the start of the examination before attempting the question 
paper kindly check your test booklet and OMR Answer·Sheet 
and ensure that : 
The serial numbers of test booklet and OMR answer sheet 
are same. * All pages of test bo�klet and OMR answer sheet are properly 
printed. All questions from S.No. 1 to last S.No. 150 are 
printed and pages from S.No. 1 to last S. No. 24 are there 
in the question booklet. 

In case of any discrepancy 1 defect the candidate should 
immediately report the matter to the invigilator for replacement 
of test booklet and OMR answer sheet. No claim I objection in 
this regard will be entertained after five minutes of start of 
examination. Candidate will be liable for it. 
3. Answer all questions. 
4. All questions carry equal marks. 
5. Only one answer is to be given for each question. 
6. If more than one answers are marked, it would be treated as 

wrong answer. 
7. Each question has four alternative responses marked serially 

as (A), (B), (C), (D). You have to darken only one circle or 
bubble indicating the correct answer on the Answer Sheet 
using BLUE BALL POINT PEN. 

8. 1/3 part of the mark(s) of each question will be deducted for 
each wrong answer. (A wrong answer means an incorrect 
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A thick fleshy grows horizontally, having 6 dry scale leaves ,  terminal buds adventitious roots called as -
' 

Tlte two chains of a DNA molecule are bound by their nitrogenous bases to each 
(A) Bulb (B) Corm (C) Tuber (D) Rhizome 

� � �i:bR=tct +tR:r � � � fuffl�<Ht -crfum, �� �. � 
� m, Ci')�{<l'a' � -
(A) � (B) Cfillf (C) � (D) {1�'-!1"'1¥:1 
Ge?es which code for a pair of contrasting trmts are known as -(A) Alleles (B) Filials (C) Hybrids (D) Progenies 
iifR:f \i'IT �q fla �� t ijibai:b t C6�t'11d � - ' 

(A)� 
cc> m 

(B) fq;ft;ri3R'f 
(D)�. 

Sex determination in human beings is based on method. 
l1ACT \ifTfu -q ftirr f.f� � fcrftr l:R 
��? 
(A) XO 
(C) XX-XY 

(B) XX 
(D) ZW 

A food chain always starts with -(A) Excretion 
(B) Digestion 
(C) Photosyuthesis 
(D) Respiration 
����·�mart­
(A) \3ffiiif1 � 
(B) 13fq�� "« 
(C) "Wffi'�T "«�� "« 
(D) �cm;:r "« 
What are the symptoms of Rh disease ? (A) Fast heart rate 
(B) Lack of energy 
(C) Large abdomen 
(D) All of these 
Rh -wr t- "Cfm �� � ? 
(A) � � 11fu CB) \m1Tf qft � (C) W9T iR: (D) <t � 

2 

9 

7 

8 

other by a bond. 
(A) Ionic (B) Covalent 
(C) Su�phide (D) Hydrogen 
tf.tf-1.1:{. � t- Gf.:IT � �-� 
11��)\;14) � &m � GPC1 � � � 
� ? �'? 

(A) 13114Pli:6 
(C) 'e(%1� 

(B) \i�ij<:f)Gtq; 
(D) �����Gi'f · 

The branch of science that deals with the 
environment is called -
(A) Taxonomy (B) Ecology 
(C) Genetics (D) Morphology 
� ?tt � �rnm t � t�t�fc:t<ol C6T 
� fcr;m \jffffi" .t- ? 
(A)� (B)� 
(C) �m (D) 1311C61ftch'r 

Deficiency of Red Blood Cells in the body is known as -
(A) Glycemia 
(B) Lipidemia 
(C) Anemia 
(D) Thrombocytopenia 
�rm -q � "6ftrt C6fOrC6t\3ll rtt 'C6lfi Cf)) 
em- i-
(A) �ffll4{1•'1f�41 
(B) �fq�fttt�r 
(C) �Plfttt�J 
(D) �llkiflBI�i)cirPlt�l 

Watson and Crick proposed the model of 
DNA-in-

CfJGtA' � ftnq; t tf.l:{'f.l:{. t � Cf)) 
�Hijl�d fc6m -
(A) 1953 -q 
(C) 1973 -q 

(B) 1963 -q 
(D) 1959 -q 

[P.T.O. 
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The dark coloured amorphous substance 14 
that is highly resistant to microbial action 
and undergoes decomposition at an 
extremely slow rate is called --
(A) leachate (B) detritus 
(C) humus (D) decomposer 

l:{C6 m trr t < ct 1 t1 '1 -qqr� iii) Pco 
��illfcti:b fi6<:rr t � "\j"'t.'q maum mar 
t i3frt � � � m4T "lJ"ftr-« � 15 
� CbQ{Illdl � I 
(A) "Pl"� I RrJ d C6 (B) i3ltJ1G' 
(C) � (D) -3i4�20C6 

'GMO' is -
(A) Genetically Mutant Organism 
(B) Genetically Modem Organism 
(C) Genetically Modified Organism 
(D) Genetically Mixed Organism 

'i#r.�.i3TI.' t -
(A) �TCb \3Nftctdl iifrct' 
(B) �TCb � iifrct' 
(C) �TCb \<i4iai1a iifrct' 
(D) �TCb � iifrct' 

Which of the folloWing disease is caused 
by . a bacterium ? 
(A) Polio (B) Haemophilia 
(C) Typhoid (D) Filariasis 
� -q -� �-m -wr � &m mart? 
(A) � (BY. ��"'tcCif{;t<Ofl 
(C) ci<Oftbl<Ofg (D) Cbl��f{<OflfuB 

16 

Which hormone deficiency in the body 17 
causes diabetes ? 
(A) Thyroxine (B) Insulin 
(C) Adrenaline (D) All of these 
�mit�� rtt q;lfr.� �m-ar 
t ? 
(A) �I <Of <'ifcR:t'1 
(C) 1{�1�'1 

(B) ��1 
(D)�� 
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Who trap the maximum sun energy ? 
(A) Grasses 

. (B) Trees 
(C) Algae (D) Animals 
� &m � � � muT qft "G'f"Rft 
� ? 

(B)�� 
(D)� 

Which of the following is the example of 
physical change ? 
(A) Tearing of paper 
(B) Cutting of trees 
(C) Freezing of water 
(D) All of the given options 
� it � � m � qf{qd'1 C6T \3GIQ (OI 
i? 
(A) corTiif CfiT -qg;rr. 
(B) � en) 'C6T201T 
(C) \;f{l1" CfiT � � 
(D)���� 

Starch - Iodide paper is used for -
(A) detection of oxidising agent 
(B) detection of reducing agent 
(C) detection of 12 
(D) detection of starch 
� - �rqjgr�a '4"51" C6T � fc6<0fT ijfffi'f 
� -
(A) � 13ilcffi1Cbl (Cb t � t ·� 
(B) � -3i4ili4C6 t a:rf1:1$11'1 if; � 
(C) I2t � t � 
(D)� t 001i$111 t � 

When C02 is passed through lime water, 
lime water becomes 
(A) milky (B) silvery 
(C) shiny (D) golden yellow 
� t "4Ffr it C02 Slctl�d � "Q"t, � 
Cf)T "CJFYr m- \ffi'dT t -
(A) � (B) � t trr C6T 
(C) 'tl'ic€1@ (D) � � 
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When a catalyst is used in a chemical 21 
reaction, then -
(A) Amount of product gets affected 
(B) Activation energy gets affected 
(C) Amount of substrate gets affected 
(D) Enthalpy of the reaction gets affected 
iJfiST OGI<:f�Ch �if�� fcnm 
iifRif t � -
(A) � c6T llBIT �� mill t 
(B) t=�Rf>qol imlf �� mill t 
(C) GiSG�c c6T llBIT �� mill t 
(D) � cCr � mfurr �� mill 

t 

In Haber process, bonds between ammonia 
and iron surface weaken and break during 
(A) adsorption 
(B) chemisorption 
(C) both (A) and (B) 
(D) desorption 
f¥-t�fula � � � � m � 
if lliB't�<:!l i3frt � (Fe) cCr � � � 

22 

Gt� Ch11iilh � t � � t ? 23 
(A) ��Wfor 
(B) ��Wfor 
(C) (A) aerl (B) "&FIT 
(D) fcl�Wror 

When we move from top to down in 
Periodic table, size of alkali metals -
(A) Increases 
(B) Decreases 
(C) No change 
(D) Either increases or decreases 

iJfiST I3TfCRf � if \£tiT "B" � cCr l3:frt 
� � m &m mgi311 COT � -
(A)� t 
CB) cr;q mar t 
cc) C�ITt qftqJ'"' � mar t 
CD) !IT m � t !IT q;q mar t 

24 
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Which is an example of thermosetting 
polymer ? 
(A) Polythene (B) PVC 
(C) Bakelite 

� m i3&1�<01 
(A) "CJ)fu� 

(D) Neoprene 

�&jf(:l�Jf � COT t ? 
(B)� 

(C) ��cll�c 

IUPAC name of 
HC = C - CH2 - CH = CH2 is -
(A) Pent - 1 - en - 4 - yne 
(B) Pent - 1 - yne - 4 - ene 
(C) Pent - 2 - yne - 4 - ene 
(D) None of these 

� HC = C - CH2 - CH = CH2 COT 
IUPAC '1ll1 t -
(A) � - 1 - f.; - 4 - � 
(B) � - I - � - 4 - f.; 
(C) � - 2 - � - 4 - f.; 
(D)� "B" Cblf � 

Select the aromatic compound. 

I{()��Ch � COT � � I 

(Alo. (B) o 
� Ef) 
e 

(C) 12\ 
(D)([J 

Ef) 
CFCs are chemically very stable because 
they contain no 
(A) H (B)' Br 
(C) Cl (D) All of these 
CFC (IGI<:!f.lCh � "B" � wrQT ma t 
��� mrr t-
(A) H 
(C) Cl 

(B) Br 

(D) -q � 

[P.T.O. 

25 Chemical · forn:tula of Plaster of Paris is- 29 
"� OOi:l; �" q;r (l('ti<OI�i$ � t-

26 

(A) CaS04.2H20 

(B) (CaS04). i H20 
(C) Ca(N03h 

(D) Ca3(P04h 

Which of the following statements is 
incorrect for the solution of alkali metals 
in ammonia? 

(A) Colour of the solution is blue 

(B) Diamagnetic in nature 

(C) Conducts electricity 

(D) Alkali metals are soluble in ammonia 

� �i311 � �..0�<011 if �W•t1 � � 
�if "B" cGR m q;eR � t? 
(A) �cl<:f1 COT i1T -.fmT mcrr i 
(B) � !llfdtJ¥a�c6't<OI � i 
(C) � !JICIIftd m � 
(D) � � �'il�<:fl if � mill t 

l7 ·
The 

•
substan�e wJ:ll'ch on 

·
heating with· 

chlorine, Yields bleaching powder is -

(A) quicklime (B) slaked lime 

(C) limestone (D) gypsum 

� l:lGfd <m'l fH � m� � m liT 
&Kltfl•l � �· t? 
{A)�� (B)�� 
(C) �(€R (D) � 

28 Major constituent of natural gas is 

(A) Ethane (B) Methane 

(C) Butane (D) Propane 

!llifiRicn fm q;r � � t -
(A) �� (B) -qeR 
{C)� (D)� 
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When several resistors of different values 
are combined in ·parallel and connected 
across a battery, then the current flowing 
in different resistors and potential 
difference across their ends, 
(A) will be different for different resistors. 
(B) will be the same for all the resistors. 
(C) the value of current will be s�e but 

potential difference will be different 
across different resistors. 

(D) the value of current will be different 
but potential difference will be same 
for all the resistors. 

� 1Wt � � � cffi- 611Ht< � 
if GilsC6< � � "B" �liT� 
� if !liCIIitct � Cffiift mu � � 
ftrU � lfa:t" �. 
(A) � '!Jifcrdm � ftrrq �-f1:Fr m 1 
(B) "ij'\fr � � ftirq '6lfA' mTr I 
(C) mu q;r 1Wt '6lfA' m � � 

�· � ftrU � lfa:t" � 
�-�m' 

(D} mu q;r 1Wt �-� m � � 
� � ftirq � I{Ch(110JI1 m I 

The essential difference between an AC 
generator and a DC generator is that 
(A) AC generator has an electromagnet 

while DC generator pas perm�ent � . 
magnet. 

(B) DC generator generates a higher 
voltage. ' 

(C) AC generator generates a higher 
voltage. 

(D) AC generator has slip rings while 
DC generator has a commutator. 

� !JI((IICidl m\1 ijJffi- i3ft"t m mTI � 
.q 10J6(C4'{uY a-RR t : 
·(A) !JI(qtCidi mu �if � � � 

mt�mmu�if� 
�� mcrr t1 

(B) m mu ijJffi- � � � 
'C6«1T i I 

(C) !JI((IICidl m\1 ijJffi- i3iild( � 
�'C6«1Ttl 

(D) !JI((ftCid1 mu � if wff � m"fr 
t�mmu�if� 
f&qqf{qdC6 m i I 

[P.T.O. 
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If a 100 watts bulb is used for 10  hours, 34 
then the amount of consumed electricity 
will be -
(A) 100 Watts 
(B) 100 Watts per hour 
(C) 1000 Watts (1 KW) 
(D) 1 KWh (= 1 unit of electricity) 
� 1 00 CJk COT � 10  m C6'fll -q � 
\fflffi t, m- m-&r q31 11f.iiT q31 "@:ffi �­
(A) 100 crk 
(B) 1 00 crk >rfu tR:f 
(C) 1000 CJk (1 KW) 

Work done in carrying a 2 Coulomb 
charge in a circular orbit of radius 3 m 

··.·-around a charge oflO Coulomb is : 
(A) Zero (B) 6.66 J 

i-· -{C) 15 J (D) 160 J 
. � 2 � ��T cit 1 0  � ��T t 
--;qrU l3irt 31ft" � t � C[tiiCbl( -q� 

-crt � � -q fcorrr � � � 
��A) �� 
(C) 15 � 

(B) 6.66 � 
(D) 160 � 

(D) 1 KWh (= 1 � �) 

A person is six feet tall. The minimum 
height of a vertical mirror for viewing his 
entire length in the mirror is -

35 c In an a.c. electric motor, the direction of 
�= �current in the coil changes once in every: 
· · • CA) two rotations of the coil 

(A) 6 ft (B) 4.5 ft 
(C) 7.5 ft (D) 3 ft 
� � qiJ �(§:mit� 0l1FIT 
� !>lRt�lO<i4 � .q m t furc{ � � 
�qft��i-
(A) 6 � (B) 4.5 -c5R: 
(C) 7.5 � (D) 3 m 

A far sighted person can read a book kept 
at usual distance by looking through a pin 
hole, because while looking through the 
pin hole : 
(A) The focal length of eye lens Is 

decreased. 
(B) The focal length of eye lens is 

· increased. 
(C) It acts like convex lens. 
(D) It acts like concave lens. 

�����-a:WRr� � � 
-crt w � � cit � �� 1m:: -q � 
"q(f> � i, � �� 1m:: � m -crt 
(A) � �. -tt � � q)l1 m- \iffifl 

il 
(B) � � -tl- � � � \iffifl i I 
(C) � � \5'ffiif � -tl- OW C6'fll C6UfT 

it 
(D) � � i3'fCRWf � "tt OW C6'fll C6UfT 

t"l 

36 

(B) one rotation of the coil "•· ' :_,_(C) half rotation of the coil 
(D) one-fourth rotation of the coil '"'�·.,: 

•--� !>l{iltqJl mu· -tt � � -q, � 
s: it mu q3t fc::�lT � "€IT\ � i � 
!':::-� � 

(A) G)� -q 
r ·lB) -qq; � -q "-.... �- .. -

JC) 13Tfq � -q 
1 ·::(D) �_,.�� � -q' 

phenomenon in which changing 
magnetic field in a conductor produces 

· · _jnduced current in another conductor, is 
'. ·balled : 

... (A) magnetic effect 

;��]B) electric effect 
-�;:(C) thermoelectric effect 
"- (D) electromagnetic induction 

"<� qf{\:R'11 � � � � -q' � 
;�_:_::gi3Tf �lO<f4c614 � ¢ "tffiiTCb -q � mu 
. -� Cf)('ffi i' Cb�i;iild't i 

(A) ��c614 �mer 
·j.(B) � �mer 

(C) CII4�9JCI �mer 
(D) �qct�lO<f4c614 mur 
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Dry cell is
. 

a type of : 

(A) primary cell 

(B) secondary cell 

(C) lead-acid cell 

(D) nickel-iron cell 

� tnrr -qq; owCOT 
(A)� tRrr t 
(B) �Ci;o� ft tRrr t" 
(C)�-� W t 
(D)�-� W t 

Charge on an electron is 

� �til cf?}t -crt ��T t" : 
(A)+ 1.6 X w-19 Coulomb I�-
(B) - 1.6 X w-19 Coulomb I �{�. 
(C) + 1.9 X w-16 Coulomb I ��1_4. 
(D) - 1.9 X w-16 Coulomb I � 

For using a convex lens as magrii:f)ing 
lens (magnifying glass), where should' the 
object be placed ? 
(A) At the principal focus 

(B) Near to the lens 
:_ ..,__�·�· (C) At fl2 (where f =focal length zo:Lthe 

lens) 

(D) Any where 

-qcn \5'ffiif � cit 13Wl� � ( �� 
�lT�lT) t � -q � � t ft;rrt;' mg 
cit com -nm \lfRIT i ? 
(A)�� -crt 
(B) � t '11J1&1Cb 
(C) fl2 -crt. (� f = � � � i) 
(D) � � 
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Which of the following colours suffers 
maximum deviation in a prism ? 
(A) Yellow (B) Blue 
(C) Green (D) Orange 

� iWrq -q Pfkf[{itfulct -q � � iTr � 
� �'CIRrtct mctT i ? 
(A) -QWrr (B) -.m.rr 
(C) -ro (D)� 

A light ray strikes a reflective plane 
surface at an angle of 56° with the 
surface. The angle of reflection will be 

W5f�T -tl- � mvt q (ICidl � � -crt 
� t m� 56° t q;)vr -crt � mar 
i I 4 ((Cid'1 q;)vr COT l1A � . 
(A) 34° (B) 56° 
(C) 68° (D) 90° 

An object is first placed at a distance 
24 em from the lens and then at a distance 
of 16 em from the lens. The magnification 
of the image formed is same in both the 
cases. The focal length of the lens is -
(A) 22 em (B) 18 em 
(C) 20 em (D) 8 em 

� mg � � � � 24. -Mr -tt � 
-crt, � � 134 (1"(1 � � 16 � -crt 
w � t"l ciT1l tr � -q � � 
!>!fa�� COT 13Wl$1 � t' I � "tt � 
� i­
(A) 22 "Mr 
(C) 20 "Mr 

(B) 18 "Mr 
(D) 8 � 

--· ports are also known as COM 
port. 
(A) Parallel (B) Serial 

(C) RJ-45 (D) RJ-11 
__ .q)i q;) C6F:r (COM) "41i t -.w:T 
� � � \lfRIT i 
(A) � 
(B) \"flftqi;ii 
(C) RJ-45 (01T{.�.-45) 
(D) RJ-11 (am:.�.-1 1) 
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47 

The first Indian web browser developed 48 
for Indian users -

(A) Google Chrome 

(B) Mozilla 

(C) Internet Explorer 

(D) Epic 

� '34<:t1141C6cti® t � � �tlll 
�·��-
(A) "T1W m 
(B) 111Ri�Mt 
(C) �1!(�1! qi:.I'WI11H 
(D)� 

Which one is not a database management 
software ? 
ClfA"-m T{C6" � it�li1ft� til<tGe.4< 'ltT 
t ? 
(A) Oracle 

(C) MySQL 

(B) Drupal 

(D) MS Access 

-- is a global address used to locate 
resources on the internet. 

49 

-- T{C6" �qq; "CffiT (�) t � �l!(�l 50 
��emw�t�� 
fc6m \iiffiT t 
(A) HTTP 
(C) HTML 

(B) URL 
(D) XML 

is a low earth orbit satellite 
constellation for satellite phone and low­
speed data communications. 
(A) Globalstar (B) Meridian 
(C) Bridgeway (D) Leosat 

-- � "C6f.:r cr Cf>ll-TJI""ff w.m- t � 
�� ·ctf � q;� � · ��  i 
(A) ll:'ll€f('t1tl!l < 
(C)� 

(B) qt)fgq"i 

(D)�� 

23 ] + 8 

IRS series satellite are used for -
(A) Forestry 
(B) Education 
(C) Remote sensing 
(D) Astronomy 

�.a:tr{.�. � � t � 
� fc6c:rr \jfffif t 
(A) c:uPlcCI 
(B) ftr� 
(C)W� 
(D)� 
-- is known as father of Indian 
space programme. 
(A) Rama K. Sarabhai 
(B) Vikram Ambalal Sarabhai 
(C) Krishnaswamy Ranga 
(D) G Madhavan Nair 

-- q;) � �� C614ai't t ftRrr 
cm-t, 
(A) "(Tqf t. � 
(B) � �411(ij1& � 
(C) �llllll(<ll� iTrT 
(D) -if. � -=mR 

Full form of GAGAN (a satellite of 
ISRO) is -
(A) GIS Aided Geo Augmented Network 
(B) GIS Aided Geo Augmented 

Navigation 
(C) GPS Aided Geo Augmented Network 
(D) GPS Aided Geo Augmented 

Navigation 

Tf1R (� em T{C6" �) em � 'Smf i­
(A) -tr.�.-q-«. � � � ("1l�,qru) 

� 
(B) -tr.�.-q-«. � � � (�l•tqu) 

��Ff 
(C) -ir.lfr.-q-«. � � � (�l•ti\'lg) 

� 
(D) -ir.lfr.-q-«. � � � ("1ltti\'le) 

��Ff 
[P.T.O. 

51 In which district of Rajasthan is the 
Indraprashtha Industrial Area located ? 
(A) Jhalawar 
(B) Kota 
(C) Bundi 
(D) Chittorgarh 

� t � � -q � -3f!El'n'C6 
�ftmft? 
(A) �l('t11CII9 
(B) 'Cf))Gr 
(C)� 
(D) fil��l941t;> 

52 Rajasthan is the sole producer of 
in the country. 
(A) gold, silver and granite 
(B) tungsten 
(C) jasper, lead and zinc and wollastonite 
(D) none of these 

� ��T Tf em qC6'1131 '3{lii&C6 
tl 
(A) m.:rr, � i3frr � 
(B)� 
(C) iitm, mm i3frr \iRm om Cll�R.l"it�l 
(D) ·� "« q;"){ 'ltf 

53 What is the limit of investment in plant 
and machineries for a small enterprise ? 
(A) � 25 lakh to � 5 crore 
(B) � 10 lakh to � 2 crore 
(C) � 5 lakh to � 2 crore 
{D) � 2 lakh to � 1 crore 

� � t � "l"{ifR.: i3fiT Tf�lf.:rfl"ff ��T 
c6'r � CfQT t ? 
(A) � 25 '('t1'RSf "« � 5 � 
(B) � 1 0 '('t1'RSf "« � 2 � 
(C) � 5 '('t1'RSf "« � 2 � 
(D) � 2 '('t1'RSf "« � 1 �. 

23 ] + 
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55 
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In which hydro electricity project, the 
Government of Rajasthan has entered in 
the partnership with neighbouring States? 

(A) Bhakra Nanga! Project 

(B) Chambal Project 

(C) Beas Project 

(D) All of the given options 

� iiWf � 4Utl11�"11 Tf � ti<CbH 
� � � t m� �� ctT t? 
(A) � � qf{q11\T1"11 
(B) � qf{q"t\i1'11 
(C) � 4il:4l\i1'11 

What is the main function of Rajasthan 
Rajya Vidyut Utpadan Nigam Ltd. ? 

(A) Development of power projects under 

State sector. 

(B) Operation and maintenance of State 
power stations. 

(C) Both (A) and (B) 
(D) Neither (A) nor (B) 

� � � \3((41&"1 � �. em 
� cm4 CfQT t? 
(A) e <Cbl fl � -ff �Wfa' 4i1:tti\T1'11® em 

� 'Cf)(""1T I 
(B) «<CbtO (<llr=t(CI t � tr<T em 

Rh<:ti'"CI<:t'1 cr �m\UT 'Cf)(""1T 

(C) (A) i3frr (B) ·<fAT 
(D) "'1" (A) i3frr "'1" tf (B) 
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Which of the following ruling dynasty of 59 
Rajasthan belongs to .the Yadava dynasty? 
(A) Rathore 
(B) Sisodiya 
(C) Kachhawaha 
(D) Bhati 

Plki�Rs!a it � � C6T � �m:rcn 
��T, � ��T -ij- � t? 
(A)� 

(B) fe�ltf&<u 
(C) Cbtt§l€11�1 

(D) 'mit 

Who was the founder of Ajmer City ? 
(A) Arnoraj 

(B) Ajayraj 
(C) Ajaypal 
(D) Prithviraj I 

��m:C6T�cCAm? 
(A) ijiUfl(l� 
(B) i3i�tl(l� 
(C) i3"1�441{fl 

(D)�� �Wf 

Which one of the following battle is 
called : 'the Marathon of the history of 
Mewar' by colonel James Tod ? 
(A) Battle of Haldighati 
(B) Battle of Kumbhalgarh 
(C) Battle of Diver 

60 

61 

(D) Battle of Gogunda 62 
q;;fuy � ira � � it -« � � q;T 
·� t- �Rt�1e C6T ��· em t ? 
(A) �W'It11il C6T � 
(B) � C6T � 
(C)� C6T � 
(D)� C6T � 
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Through which newspaper did Vijay Singh 
Pathik popularise Bijolian Peasant 
Movement in India ? 
(A) Pratap (B) Kesari 
(C) Maratha (D) Young India 
fcfffi ijJOfltil (4?1 � � -« !"ei�4Ri� � 
� �Gfif&41 � i3iHfiW1 qiT 'qffif it 
� GAT<rT ? 
(A) � 
(C) 1RT3T 

(B) t«fr 
(D) "$1 � 

Where was 'Azad Morcha' constituted to 
conduct the Quit India Movement ? 
(A) Udaipur (B) Bikaner 
(C) Jodhpur (D) Jaipur 
'l=fmf � i3"li�W'I t' tittiWi � ·� 
lllttf' C6T 'lf0'1 � si3iT m ? 
(A) \3&4:J< (B) af!Cf>l� < 
(C) ijf)� (D)� 

Who was the Maharaja of Jodhpur State 
at the time of the integration of the 
princely states of Rajasthan ? 
(A) Ummed Singh 
(B) Hanwant Singh 
(C) Gaj Singh 
(D) Vijay Singh 
� cCr &t�teci'i t- �Cf><OI t � 
� � C6T JOt�l <til'! I cCA m ? 
(A)�� (B)�� 
(C) T[i1f � (D) m<:t � 

Which language of Rajasthan has Marathi 
influence ? 
(A) Marwari (B) Dhundhari 
(C) Mewari (D) Malwi 
� cCr � effi;fi -err � � q;r 
�trrcr t ? 
(A) Jii(CII� 
(C)� 

(B) � 
(D)� 
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64 

65 

Match the correct pair -
(a) Neja (1) Bhil 
'(b) Indoni (2) Kalbeliya 
(c) Terahtali (3) Girasia 
(d) Valar (4) Kamad 
tTtT � q;T �r&d � -
(a) �· (1) � 
(b) �os)o" 
(c) �heydl{iff 
(d) crrort 

(2) Cbl{fl�f&41 
(3) Pmfet�r 
(4) � 

(A) (a) (1), (b) (2), (c) (4), (d) (3) 
(B) (a) (2), (b) (3), (c) (1), (d) (4) 
(C) (a) (3), (b) (4), (c) (2), (d) (1) 
(D) (a) (4), (b) (1), (c) (3), (d) (2) 

Where is the main Peeth (seat) of 
'Nimbark' sect ? 
(A) At Kishangarh 
(B) At Salemabad 
(C) At Salasar 
(D) At Khedapa 
·Pt�tcfi' el0!>1&14 ctr � q)o � t ? 
(A) fcn�Fr"m, it 
(B) eciJOtt\'!11& it 
(C) et@e< it 
(D)� it 

'Jhela, Jamela, Peepalpatra, Agotya' are 
the ornaments of -
(A) Ear (B) Neck 
(C) Hand (D) Finger 
·�. �. Q)q(llq?(J, �· fcfffi aPr 
t��? 

"\ 

(A) C15R (B) 1"fffi 
(C) m� (D)� 
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66 _ is a traditional craft of Jaipur. 
(A) Thewa work 
(B) Woollen Khadi 
(C) Paintings 

(D) Blue Pottery 

- � C6T q(qwla �wcr t 1 
(A) �. q;rtf 
(B) �m 
(C) � 

·(D)�� 

67 In which year 'Bhamashah Scheme' was 
launched in Rajasthan ? 
� it ''qTJOf'T�� �· CO\'SI" � ctr 
11f � ? 
(A) 1995 

(C) 2002 

(B) 1998 
(D) 2008 

68 Which of the following programmes was 
launched in the year 2012 with the 
objective to link skill training programme 
with employment ? 
(A) Employment Linked Skill Training 

Programme 
(B) Regular Skill Training Programme 
(C) Pradhanmantri Kaushal Vikas Yojana 
(D) None of these 

Ptkifmfula it -« cCA-m Cf>t4S'b'1, c6l�m 
�TlfftiT C614S'bJOt q;T flil'fJII( t m� � 
t ��<:r -«. cpt 2012 it m� � � 
m ? 

(A) �Tt�ito:e � � � � 
(B) � �� ID"mq 
(C) �� cil�m � � 
(D)� -ij- � 'itT 
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Which of the following is not true about 71 
Mullliya Mantri Adarsh Gram Panchayat 
Yojana (MAGPY) ? 

(A) It envisages integrated development 
oJthe selected village across multiple 
areas. 

(B) l!.aims instilling certain values such 
as. gender equality, dignity of women, 
social justice, spirit of community 
,.service etc. 

· (C) lays focus on community 
participation and social mobilization 
of village community. 

(D) Jt- promotes agricultural marketing 
cmd credit extension for marginal 72 
farmers. 

�,� \ffiG:�T mq � � t Glft 
it f¥::ff it����t? 
(A) ... � :qqPJtt TJfciT t � � t wrn 

· ,&aenm c6T qf<co{iq11 c6T � t ' 
(B).���<f����� 73 

'� e'111ttl, �1311 c6T 11ft&rr, 
{tf1li1Rilcn �. m � C6T � 
·�., 

(C) ••�m4Tur�c6Tet�&lf"t4co� 
;� ei'11Ritcn � "(1'{ GR'f � %1 

(D) ,:qw ft<>l'll;o Pcbe1•fi t � � � 
·�m<sr � �q;)�� 
c� I 

In �hich year the Rajasthan Panchayati 
Raj Act, 1 953 was amended ? 

� 4iit<4d\ (1\jf �. 1953 C6T 
fclm , � it "ft�ilftm fc6m Tf<:rr l!li ? 
(A) 1982 

(C) 1994 

(B) 1990 

(D) 2000 

74 
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What is the expected production of pulses 
in 2017- 1 8  in Rajasthan ? 
(A) 36.50 lakh tonnes 
(B) 35.30 lakh tonnes 
(C) 36.30 lakh tonnes 
(D) 35.50 lakh tonnes 
2017-18 it � it cmriT C6T 13ijii1Pttt 
i3NI&1 � t ? 
(A) 36.50 � c.:;r 
(B) 35.30 � c.:;r 
(C) 36.30 � c.:;r 
(D) 35.50 � c.:;r 

In which year Maharaja Shree Umaid 
Mills Ltd. was set up ? 
'1�1 (l'ifl -9iT � � ftif. fclm Cl'i � 
c6T � tft ? 
(A) 1939 

(C) 1991  

(B) 1971 
(D) 2001  

Integrated Watershed Management 
Programme has been renamed to --· 
(A) Pradhanmaritri Krishi Sinchai Yojana 
(B) Mukhyamantri Krishi Sinchai Yojana 
(C) Rajasthan Krishi Sinchai Yojana 
(D) Rajya Krishi Sinchai Yojana 
«4r;qtt IJ'It•m�o' �tf'i' cot4m'1 C6T '1lll 
qf{qRfd. � -- q){ � l"f<:rT t I 
(A) >r� � fti"CiTt � 
(B) �&:44?\1 � fti"CiTt � 
(C) � � fti"CiTt � 
(D) � � fti"CiTt � 

When was Drought Prone Area 
Programme launched ? 
� � � cnl4m'1 � mtcq :$1311 m? 
(A) 1973-74 (B) 1984-85 
(C) 1996-97 (D) 2001-2002 
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75 

76 

77 

78 

79 

What was the ratio of financial share 80 
between Centre and States in Desert 
Development Programme ? 
� � col4m'1 it � efR � 
t � it fcffiTtl 13t�T C6T � ·Cfq'f m? 
(A) 75 : 25 · (B) 50 : 50 

(C) 60 : 40 (D) 70 : 30 

Pink Bollworm was in the news recently, 
it is harmful for which of the following 
crops ? 
(A) Cotton (B) Silk 
(C) Mustard (D) Apple 
m GITclq4 m tt it � it mu -q � ··' 
-q -6 fclm "tlttRif t � �tPtcotlcn t ? 
(A) C54T«" (B) t�T'l" 
(C)� (D)� 
In Delhi, from 1st April, 201 8  ,which of 
the following standard for automobiles 
was implemented ? ... 
� it 1 •• 2018 � R9:�� �­
m llACf> 01Ti\tfJGII�ffi t � ·� :$1311 ? 
(A) BS-IV (B) BS-V 
(C) BS-VI (D) BS-III 

81 

Indian Mission Aditya L-1 is r�lated to 
which of the following ? 82 
(A) Sun (B) Moon 
(C) Mars (D) Jupiter 
� ilf�Ff � L-1 C6T � � 
it�fclm�t? 
(A)� (B)� 

(C) lfTror (D) ii!�WRl 
India's first Rio-methane based>bus was 
iaunched by which of the following Indian 
Company? 
(A) TATA (B) Mahindra, 
(C) Bajaj (D) Eicher 
'qffif c6T � �-ili� �·· Gffi q;) 
fclm � � am � � Tf<:rr ? 
(A) mT (B)� 
(C) 'Giim\if (D) \311(:f�T{ 

23 ] + 13 

For wholesale price index of Rajashtan, 
which of the following is considered as 
the base year ? 
� it � � �ilcoiCh t � � 
it � � � qq +rAT 'IJ1Tffi t ? 
(A) 1999-2000 

(B) 2004-2005 

(C) 2011-2012 

(D) 2009-2010 

In which of the following case 'Avika 
Kavach Bima Yojna' is effective ? 
(A) Unnatural death of sheep 
(B) Damage to wheat crop 
(C) Accidental damage to vehicle 
(D) Domestic loss due to fire 
� it .� fclm ttl" it ·� � � 
�· >r�i? 
(A) � c6T i3i!'II�Rlcn � 
(B) -fr{ c6f "tlttRif q;) jcnfl 11 

(c) � q;y qcffi\�:c ma­
(D) i3WT � � jC6«1'1 

By Central Board of Irrigation and Power, 
which of the following state's electricity 
board was awarded the 'Best Acting Power 
Transmission Utility; in 2018 ? 
(A) Meghalaya 
(B) Punjab · 
(C) Himachal Pradesh 
(D) Rajasthan 
� fti"CiTt cr �m 'Gilt am � -q � 
fclm � t � 'Gilt q;) 2018 it ·� 
� cot4<tt '41'ciT ��Ff ��Rrtf'c' 9;HC6t< 
� Tf<:rr ? 
(A) BEII{i1(4 
(B)� 
(C) �'li'Cicl ��T 
(D)� 
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In India, the first "Skill University" was 87 
started in which one of the following 
states ? 
(A) Rajasthan (B) Uttar Pradesh 
(C) Punjab (D) Haryana 
'qffi'f -it �� ·� fcr�q�Qiffl4' � -it 
-« � ""{1\1q -it t}Q � Tf4T ? 
(A) � (B) lftf'{ ��T 
(C) � (D) �i1:41011 

Rajasthan's first Mega Food Park was 88 
inaugur1:1ted in which of the following 
districts ? 
(A) Alwar (B) Jaipur 
(C) Udaipur (D) Ajmer 
� � � � � 'tilt C6T '3C(€11C:::"1 
�-it"B"��-if�Tf4T?. 
(A)� 
(C) '3&4�< 

(B)� 
(D)� 

"Bhairon . Singh Shekhawat Antyodaya 
Swarojgar Yojana" will provide loan of 
� to the eligible families. 89 
"� �� � �fl\11�11( �" 
� qf{q I fj c6'r � C6T ?[01 'WWr 
�I 
(A) 50,000 
(C) 2,00,000 

(B) 1,00,000 
(D) 1,50,000 

Which artist out of the following artists 
of Rajasthan is working with designer 
vessels made of clay ? 
(A) Omprakash Galav 
(B) Devdatt 
(C) K.ripal Singh Shekhawat 90 
(D) Beni Ram Soni 
� -it -« � C6T c5R-m CbffliCbl< 
� � �\111�1( "tff?IT C6T � CliT -m i? 
(A) afl"fs:ICbi�T TfR'fCf "' 
(B)� 
(c) CJ?41fflR-i� �nsrrcm 
(D) �'1"1 (l"f m-.fr 
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Which ·of the following district of 
Rajasthan has 'Peacock' as the symbol of 
the district ? 
(A) Ajmer (B) Bhilwara 
(C) Dausa (D) Hanumangarh 
�-it-«�� c5R-"B" � C6T � 
·�· t ? � 

(A) � (B) �&€11?1 

(C) cflm (D) 6i"ti13li; 

What amount is given with the Ambedkar 
M!}hlla Kalyan Purushkar ? 
(A) � 1.0 Lakh 
(B) � 1.5 Lakh 
(C) � 51 Thousand 
(D) � 21 Thousand 
��6<:6( � <:6\'4101 9jHC61( � � � 
�-crMtmr�t? 
(A) � 1.0 "ffilSf (B) � 1.5 "ffilSf 
(C) � 51 � (D) � 21 � 

In which one of the following districts of 
Rajasthan, the foundation stone of 
"Devnarayan Panorama" was laid by the 
Chief Minister ? 
(A)_ Bhilwara (B) Ajmer 
(C) Dausa (D) Bharatpur 

���-it-«�� -it �+i=it 
am '1etc:t11U401 �'11<"11" C6T fti&�O<Qtij � 
Tf4T ? 

. 

(A) �&€11?1 
{C) cflm 

(B) � 
(D)� 

Country's first 'digital archives' is situated 
in which city of Rajasthan ? 
(A) ·Bikaner (B) Jaipur 
(C) Jodhpur (D) Udaiptlr 
'qffi'f C6T �� ·�fGtc:::& �� � 
� -� �Wf -if � i ? 
(A) GllC61� < (B) � 
(C) � (D) '3&4�< 
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93 

94 

�s per Statistical Abstract of India 2007, 95 
,m how many States/U.T.'s of India more 
than 33% of forest areas were found ? 
(A) 20 states (B) 15 states 
(C) 14 states (D) 18 states 
'mrcf � ij if@qc:Cl4 Q}SH�CFG 2007 � � 
� � � � ���Trfua ��n 
-if 3 3% -ij- � trrT � CA "41<) TJif ? 
(A) 20 � -if (B) 15 � -if 
(C) 14 � -if (D) 18 � -if 
When did 'Mukandra Hills National Park' 
was given the identity of state's third 
National Park by Govt. of Rajasthan ? 96 
(A) 10 April, 2013 
(B) 9 January, 2012 
(C) 14 February, 2012 
(D) 26 January, 2013 
!j)Cb'{ (I � ��FRil 'tflt c6'r � � 
����Cf)GI"��? 
(A) 10 i3lW, 2013 
(B) 9 \l1"1c:tft, 2012 
(C) 14 �� 2012 
(D) 26 \l1"1c:tft, 2013 

From which tree 'Kattha" is extracted ? 
(A) Teak (B) Khejari 
(C) Salar (D) Khair 
'q;-�' � �� -e- f-:1<:61&1 \jffffi i? 
(A) �WI€11"1 (B) � 
(C)� (D) � 
Which of the following tribe is second in 
population m Rajasthan as per 2011 
census? 
(A) Bhil (B) Meena 
(C) Garasia (D) Sahariya . 
� -it 2011 cCr \l11t(0("11 � � 
� \l1"1\l1rrd \11-=tfi&:lr � � � � 
i? 
(A) � (B) +lfon 

(D) fl�ft41 

97 
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Which one of the following cattle product 
is main product of Rajasthan ? 
(A) Meat (B) Milk 

(C) Animal Skin (D) Egg 

Pikff&tf&a -q� � -it -e- c5Rm � 
� C6T � -q� � i? 
(A) "4R: (llffi) (B) \� 
(C)� (D)� 

Technical report of ground water survey 
of 1971 does not include which of the 
following district in survey ? 
(A) Banner (B) Jaisalmer 

(C) Udaipur (D) Jodhpur 

�-ll'4 \iRif �-1971 cCr def);f\Cfi) flqli � 
������ Cffi" w:rfcm� 
���lft�Ti? 

' 

(A) � (B) Jlf!(fttt( 
(C) '3&4�< (D) '\l1)� 

At which place Tree festival is celebrated 
on 12th September every year in Rajasthan? 

(A) Khejdi Village - Jodhpur 

(B) Kailadevi - Karauli 

(C) Mandor - Jodhpur 

(D) Kolayat - Bikaner 

�-if� 12 fudRil( c6'r � WA 
� �� q�·h�€1 lFIT4T \jffffi t? 
(A)� mll - '\l1l� 
(B) a;@etcft - � 
(C)�-� 
(D) chl@4d - GllC61� < 

[P.T.O. 
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98 

99 

The maximum number of trees found 
between the height of 250 to 450 m in 
the southern part of the Rajasthan are -

(A) Teak (B) Salar 

(C) Dhokda (D) Palash 

� t � 'qJTf -q 250 -« 450 +IT. 
c6T � "tiT � � -q � i1fR qffi 
CI� t -
(A) �WICII'1 
(C)� 

(B)� 
(D) lR'IT�T . 

Which type of dunes are found in 
Drishadvati river valley in Thar qesert of 
Rajasthan ? 
(A) Longitudinal dunes 

(B) Barchan dunes 

(C) Parabolic dunes 

(D) Star sand dunes 

� t� � -q��cCr 
eniT -q � m t � ?6 � ��a 
ma-t? 
(A) � -m q<:f'11l<:fdl � cor � 
(B) il<&t'1 � cor � 
(C) q uai)f<ttq, �· cor � 
(D) om � cor � 

100 Which is not an ore of Lead-zinc ? 
(A) Galena 

(B) Calamine 

(C) Zincite 

(D) Hematite 

�� cor � � m � �? 
(A} � 
(B) lb@"il�'1 
(C) fGiCbl�<! 
(D) �"11<!1�<! 

23] + 16 

101 Consider the following pie chart to find 
the expenditure on Indian Military if India 
had a total expenditure of� 120 crores. 

����c6f �UWkll � �� 
CfiT � � � � trmi CfiT ¥'1" w 
� 120 � m , 

Others 
\3F(:f 

Venture 
� 

Interest on debt 
� � "&fTijf 

(A)� 66 crores I� 
(B) � 70.8 crores I � 
(C) � 54 crores I � 
(D) � 72 crores I � 

International 
ai�((l�tl 

102 What is the angle of elevation of the sun 
when the length of shadow of a vertical 
pole is equal to its height '1 
� cor � 'Cb)ur CFU � ijfGI' � � 
lStcq c6T � c6T � �· � � 
��? 
(A) 30° 
(C) 60° 

(B) 45° 
(D) 75° 

103 If sin 2A =cos( A -18°), then the value 

of A is -

� sin 2A = cos( A -18°) 61 � A cor 

lWf � -
(A) 18° 
(C) 54° 

(B) 36° 
(D) 72° 

[P.T.O. 

104 

105 

If the diameter of a circle is 8 m, which 
length of arc intercepts a central angle of 
45° at the centre ? 
� � CIU em- a:rm 8 +IT. �. � � 
� cor 'iUtl' � "tiT 45° em- 'Cb)ur \1RI'fur 
Clr«ff � ? 

. 

(A) rc m/ +11. (B) 2rc m I +11. 
(C) 3rc m I +11. (D) 41t m I +11. 

In a data, 1 0 numbers arranged in 
ascending order. If the 7th observation 
from the beginning is increased by 4, then 
the median increase by 

� � -q 10 �an C6T � � 
-q�� <r<rr � ���-«� 
��-q4c6f�c6T���� 
-qgt��­
(A) 0 
(C) 6 

(B) 4 
(D) 5 

106 The length of the shadow of a vertical 
tower on level ground increase by 1 0 m, 
when the angle of elevation of the sun 
change from 45° to 30°. The height of 
the tower is -
� � G[q"{ c6T T9(<:IT � . frcwf. -en 
1 o l\1. � � � \ifdl' � cor � 'Cb1vr 
45° � 30° m \fflaT � , G[q"{ cCr � 
� -
(A) 5( .J3 -1) m I l\1. 
(B) 13 m l lfr. 

5 
(C) .J3 _ I m I l\1. 

(D) 5( .J3 + 1) m I l\1. 

107 The value of 

. COS0°COS1 °COS2° ...... COS100° lS -
cos 0° cos I o cos 2 o •••••• cos I 00° CfiT 

lWf � -
(A) 0 (B) 1 

1 

(C) 2 

23] + 

(D) oo 

17 

108 

109 

In a town number of maternal death is 
50 in a year. If number of infants born 
in this year was 500, then maternal 
mortality rate per 1,00,000 is 

M Cl"f � � -q 1lKJ � cCr � 
50 � I � iffi Cl"f � �T�aTI c6f tiw.Tf 
500 eft, aTllKJ wg (IT ma- 1,00,000 �-
(A) 1000 (B) 10,000 
(C) J 0,00,000 (D) 90,000 

For the following data, the mean deviation 
from median is 
Plk!Rtlr&d � t � � � lfr&r 
Pci'tl (f('1 � -

X 

f 
(A) 0 
(C) 3.84 

2 6 
4 6 

10 14 
8 5 
(B) 3.68 
(D) 9.2 

18 
2 

110 The value of 

. 210 . 2 30 . 2 so sm +sm +sm + ........ 

+sin2 89° is -

· 21o · 23o · 2so sm + sm + sm + ...... .. 

+sin2 89° C6T 1lR � -

(A) 0 

(C) 23 

1 (B) 22-2 
(D) 45 . 

111 A cylindrical vessel of base radius 20 em 
filled up to a height of 32 em with juice. 
The juice is filled in cylindrical glass of 
radius 4 em upto a height of 8 em. How 
many such glasses can be filled ? 
� �(if'11Cbl ( 'dRA" "Rimt � c6T � 
20 t4T � -am � 32 t4T � 'ffq) � 
-« 'TU si31T � , � C6T 4 t4T � crffi 
�(if'11Cbt< Pr@�i'i -q 8 t4T � 'ffq) 'TU 
\fflaT � I � � flmrn � ilff � 
l ? 
(A) 20 
(C) 100 

(B) 50 
(D) 120 

[P.T.O. 
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112 If P (9a- 2, - b) divides line segment 

joining the points A ( 3a + 1, -3) and 

B (8a, 5) in the ratio 3 : 1 ,  then the values 
of a and b are -

� P (9a- 2, -b) , �00' A(3a+ 1, -3) 
({Ct B (8a, 5) Gbl ilwfR � {@@06 Gbl 
3 : 1  � � if � 'C6«<T t, � a 
am b � lfR � 
(A) a = 1, b = 3  

(B) a =  -1, b = 3 

(C) a = -1, b = -3 

(D) a = 1, b = -3 

113 The two opposite vertices of a square are 

( -1, 2) and ( 3, 2) , then the coordinates 
of the other two vertices are -

(A) (1, o) and (1, 4) 

(B) (-1, 0) and (-1, 4) 

(C) (1, o) and (-1, 4) 

(D) (-1, 0) and (1, - 4) 

� err � <IT �  �fpf (-1, 2) am (3, 2) . 
t � � <IT �� � ��lfq; � -

(A) (1, o) � (1, 4) 

. (B) (-1, 0) ({Ct (-1, 4) 

(C) (t, o) � (-1, 4) 

(D) (-1, 0) � (1, - 4) 

23 ] + 1 8  

116 114 In figure L XYZ  = 64° and XY is  

produced to point P. If ray YQ bisect 
L ZYP , then the value of L XYQ is - · 

� if  LXYZ = 64° am XY Gbl � P :  
� � "\IIl'CfT t I � fc61uT YQ, L ZYP 
Gbl � C5«ft t � GbluT L XYQ 
qrr 11FT t -

y 
/ 

/ 
/ 

� 
p 

(A) 122° 

(C) 1 1 6° 

X 

z 

Q 

(B) 1 05° 
(D) 302° 

117 

.1:15 Successive discounts of p% and q% are 1 118 
equivalent to a discount of 

p% � q% � mt:tPia � fcncR � � 
Bt:Jg(fi!:l � ? 

(A) (p + q)% 

119 

� 4,000 was divided into two parts such 120 The mean of 13 numbers is 24. If 3 is 
a way that first part was invested at 3% added to each number, then what will the 
and the second at 5% per annum. If the 
whole simple interest from both the 
investments for one year is � 144. Then · 
the amount of the first part is -

� 4' 000 Gbl <IT 'l:flliT if w wm- � Tf"4T - . 
fc5 � cqrrr Gb1 3% am � 'qflT Gb1 5% .. 

new mean ? 

t 3 �00' cnr � 24 t  � � � mr  
if 3 � � \iW) m -.:rm � � -
(A) 24 
(C) 27 

(B) 2 1 
(D) 25 

� "&fTiif <n" 1R ��T � "\IIl'CfT t I � 121 
lt ��T "!R � � � cnr � � : 

Volume of a cone is 1 6632 cm3 and 
height is 9 em. What is its base radius ? 

� 144 m m � 'qfT[ ct1 mr t 
(A) � 2,700 
(C) � 2,500 

(B) � 2,800 
(D) � 2,400 

A man spends 75% of his income. His 
income increases by 20% and hi·s 
expenditure also increases by 1 0%, theh 
the percentage increase in his savings is -

� -a:rFcRr � 0m:r cnr 75% m �· · 
t 1 � 0m:r 20% am � 1 0% � · 
t, m � � if >Tfu�m � t -
(A) 1 0% 
(C) 25% 

(B) 20% 
(D) 50% 

The ratio of an external angle and aJ1. _ 
internal angle of a regular polygon is 1 :5�·­
The number of sides in the polygon is - '  

� �� � � €!�%'Jo1 am � 
13Rf:Gblur qrr � 1 :5 t I �� if �1311 
ctT mr t -
(A) 12 
(C) 8 

(B) 6 
(D) 1 0  

The mean deviation from the mean · for 
the following marks is -

� � � qrr � -« � Pclt�ti1"1 t� -
37, 48, 50, 23 , 47, 58, 29, 27, 3 1 ,  40:' . 
(A) 9.5 (B) 9.6 
(C) 9.7 (D) 9.8 

( 1t = 22/7) 
(A) 36 em (B) 42 em 
(C) 49 em (D) 48 · em 

� �� qrr � 1 6632 �3 t � 
� 9 � t� � � ctl � �  
t ?  (n = 22/7) 
(A) 36 � 
(C) 49 � 

(B) 42 � 
(D) 48 � 

122 Volume of a cube is 128Ji cm3 . What 
is the area of one face of the cube ? 
(A) 32 cm2 (B) 1 6  cm2 
(C) 40 cm2 (D) 48 cm2 

� CA" qrr � 128.Ji �3 t I 
CA" � � � qrr � � t ?  
(A) 32 �2 (B) 1 6  �2 
(C) 40 �2 (D) 48 �2 

123 PQ is a straight line of 13 units length. 
If P has the co-ordinates (2, 5) and Q has 

the co-ordinates ( x, - 7) , then the value 
of x is -

PQ � -ijtm t&r t � �  13 �  
t 1 � � P � ��Ticf; (2, 5) am Q 
� ��lfq; (x, - 7) � "ffi X q;J lfR t -
(A) -7 (B) 3 

(C) 13 (D) 7 

[ 
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124 Which of the following points lie on 
x-axis ? 

f.ik!Rrtfu.a it -« cCA- m � x-i3llff tR 
ftm:T t ? 
(A) (-2, -2) 

(C) (2, 2) 

(B) (0� -2) 

(D) (--:-2, 0) 

127 The diagonals of a rectangle ABCD 
intersect at 0. If L BOC = 68° , then 

L ODA is -
� � ABCD t fctq;uf 0 tR 1'4RiW& 
·q;-ffl � I � L BOC = 68° (W L ODA 
t -
(A) 45° 
(C) 68° 125 If the co-ordinates of three vertices of a 

square are· (0, 0), (0, -4) and ( 4, 0), then 
the co-ordinates of its fourth vertex is - 128 How many straight lines can be drawn 

through four distinct non-collinear points ? � � crt t "8Fr �?rqT t �m 
(O, O), (O, -4) a� (4, O) t � � "'tfr� 
�Tttt q;r ��rtq; t - . 
(A) (4, 4) 
(C) (4, -4) 

(B) (-4, 4) 

(D) (-4, -4) 

126 In the given figure, if BD !IRS II PQ, 
CP = PD = 1 1  em, AR = RD = 3 em, 

BD = x, RS = y, PQ = z, then the ratio 
of values of y and z is 

A 

� � fcr?T . -q· � BDIIRSII PQ, 
CP = PD = ll  Wt, AR = RD = 3  Wfr, 
BD = x, RS = ;, PQ = z, tiT y a� z t 
lWlT q;r � ·t -

D 

8 

(A) 6:11 (B) 3 : 11 

(C) 1 : 1  (D) 1 :2 

c 

23 ] + 

"'tlR· f'R \1Hfhflq �\311 -ij- � � 
� � \liT � � ? 
(A) 4 (B) 6 
(C) 8 (D) 12  

129 The single discount which is equivalent 
to discount of 1 0%, 20% and 25% is -
� � (�) \ill ?co 1 O%, 20% a� 25% 

� t tl'ig(f<OI t 
(A) 55% 
(C) 54% 

(B) 46% 
(D) 45% 

. 
130 A 'sum of money double.s itself in 5 ye�s 

20 

at compound interest. It will be eight 
times in -
(A) 1 0  years (B) 12 years 
(C) 1 5  years (D) 20 years 
� � mT iUb� '&11\if -ij' 5 � it 
2 � m � t  � � 8 � � -
(A) 1 0· � it (B) 12 � it 
(C) 1 5  � it (D) 20 � it 

131 · 21% of a fixed number is 28, then 15% 
of same number is -
M � � q;r 21%, 28 t. (W i.Rft 
� q;r 15% t -
(A) 1 8  (B) 20 
(C) 2 1 (D) 24 

[ P.T.O. 

132 The ratio of the length and perimeter of 
a rectangular plot is 1 :3 . What is the ratio 
of the length and breadth of the plot ? 
� 0iltld1Cbl{ � c6T � 'd"� qf{'il4 
q;r �  1 :3 t 1 � c6T � am �  
G6T � Cf<.IT t ? 
(A) 1 :2 
(C) 3 :2 

(B) 2 : 1  
(D) 4:3 

133 1ogb a x  loge b x loga c is equal to 

Iogb a X logc b x Ioga c � i -
(A) log abc 

I (C) ­abc 

(B) abc 

(D) 1 

134 The quadratic equation with one root 

( .J5 + 2) will be -

fuma' (14\Cf){OJ � � � (.JS + 2) 
i, "WIT -
(A) x2 + 2.JSx + 1 = 0 

(B) x2 - 4x + I = O  

135 Ifthe sum of three consecutives multiples 
of 1 3  is 390. Then second multiple of 13 
IS -

� 13 t fulWid "8Fr � COT tWT. 390 
t l tiT  13 C6T � � t -
(A) 1 1 7 

(C) 1 43 

23 ] + 

(B) 130 

(D) 1 56 

2 1 

136 Factorization of 

[ x2 + (a+b + c}x+ ab + bc] is 

[ x2 + (a+b+c}x+ab+bc J q;r 

�01"'!<§405 t -
(A) (x+ b)(x + a + c) 

(B) (x+ a)(x+ b + c) 

(C) (x+c) (x + a + b) 

(D) (x+ b) (x + a + b + c) 

137 The square of 50005 is -
50005 COT crt i -
(A) 2500500025 
(B) 250050025 
(C) 2500050025 
(D) 2505500025 

138 The value of (857375)1/3 IS -

(857375)1/3 

(A) 95 
(C) 75 

COT 1WT t -
(B) 85 
(D) 65 

139 Mohan bpught two cows in � 30,000. By 
selling one at a loss of 15% and other 
at a gain of 19%, he found that the selling 
price of both cows is the same. The cost 
price of both the cows are -
� � � 30,000 it qt � w00 I � 
c5r 15% m a� � c5r 1 9% mtf it �  
"4\ � � fcf; c:FtT lfT<.IT q;r � � 
tfllR t I c:J;fl lfTtiT CfiT m<:l � i -
(A) � 1 7,500, � 12,500 
(B) � 15,000, � 1 5,000 
(C) � 1 8,000, � 12,000 
(D) � 20,000, � 10,000 

[ P.T.O. 
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140 The circumference of two circles are in 
the ratio 2:3, then the ratio of their areas 
IS -

-&T � cer "Cift:fu C6T � 2:3 t, m � 
l?i?llf>t'i'i C6T � t -
(A) 2:3 (B) 3 :2 

(C) 9:4 (D) 4:9 

141 A spherical ball of diameter 2 1  em IS 
melted and recast into cubes, each of side 
1 em, then the number of cubes thus 
formed is -

21  � '&:fffi c#r � � llG cffi" ftlt�(f!IQI 
Tftll om 1 � fctFnt -crM tf1T if �: <m<rr 
Tftll, � � WfjT"{ eR tf1T $1 msm t -
(A) 2100 . 

(C) 441 0  

(B) 4200 

. (D) 485 1 

142 Which of the following pair of equations 
has no solution ? 

(A) x - 2y = O  and 3x + 4y - 20 = 0  

(B) x + 2y + 1 = 0  and 2x+ 4y + 2 = 0  

(C) 2x - y =  0 and x -2y = 0 
(D) x + 2y - 5  = 0 and 2x+ 4y - 12 = 0 
� ("lif\qj(OJ � if -ij- � � � � 
� fetta'tl'"l -;ftT t ? 

(A) x - 2y = O  � 3x+ 4y- 20 = 0  

(B) x + 2y + 1 = 0  � 2x + 4y+ 2 = 0 

(C) 2x- y = O  � x - 2y = O  

(D) x + 2y - 5  = 0  � 2x+ 4y - 12 = 0  

23 ] + 

143 In figure, ABCD is a cyclic quadrilateral 
in which A C and BD are its diagonals. 

If L DBC = 55° and L BAC = 45° , then 

L BCD is ----

m- if ABCD � � "'Cfg� t � 
· AC � BD � � t I � 

L DBC = 55° om L BAC = 45° ,  � 
L BCD t -

'(A) 100° 
(C) 35° 

(B) 80° 

(D) 45° 

144 If d ABC :: A EFG and AB = EF ,  then 

the values of x and y are -

A 

8 

22 

� A ABC :: A EFG om AB = EF oq 
x "Cf y � +t"A t -

E 

y+2X c G 1 0x-y F 

(A) X =  I, y =  1 (B) x =  4, y = 1  

(C) X =  1, y = 4 (D) x =  1, y = 3 

[ P.T.O. 

145 The co-ordinate of point p which lie on 
y-axis and distance of 2 unit from the 

origin ( 0, 0) will be -

� p t ��Tiq) \if) y-131� "(f{ fum t 
o� 1@" � (o, o) -ij- 2 � � \IT t, 
Ti'Tr -
(A) (o, 2) 

(C) (2, 2) 
(B) (2, o) 

(D) (1, 1) 

a · b c · a+b+c  146 If 3=5=7 , then the value of b 
is -

� f!_ _ b _ c ...;�.. a+b+c  
3 - 5.- 7 '  a t  b C6T 11A t -

(A) 3 (B) 5 
(C) 1/3 (D) I/ 5 

147 Sum of length, breadth and height of a 
cuboid is 20 em and the length of its 
diagonal is 6.J6 em. Its total surface area 
is -

(A) 216  cm2 

(B) 616 cm2 

(C) 184 cm2 

(D) 246 cm2 

-qq; lflN $1 �� � om � C6T 
� 2o � t om � � $1 �  
6../6 -M'r t  � � � � C6T �  
t -
{A) 216  �2 
(B) 616 -M'f2 
(C) 184 Wit2 
(D) 246 Wit2 

23 

148 If log10 [ log2 {Iog4 x) J = 0 , then the value 

of x is -

� loglO [ log2 ( log4 X) J = 0 , ciT X C6f 11Ff 

t -
(A) 4 
(C) 80 

(B) 8 
(D) 1 6  

149 Raj started a business with � 37,500. 
After some time Umed joined the business 
with � 50,000. After one year they shared 
the profit equally. Find after how many 
months Umed joined the business. 
(A) 3 months 
(B) 9 months 
(C) 4 months 
(D) 8 months 

'tliif � � 37,500 t mq t:{q) "&l'ftiR" � 
fcn<:rr I �  � "tf�� #ra: � 50,000 � 
mq "&l'ftiR" if �ni1:Rtr m Tff:IT I t:{q) � 'q'�� 
� (ii"N q?r �  im" if �  I �  

. #ra: � � � "&l'ftiR" if �nftnrr s'* 
m ? 
(A) 3 � 
(B) 9 11'N 
(C) 4 � 
(D) 8 � 

150 A man bought 3 toffees in a rupee. How 
many toffees in a rupee must he sell to 
gain 50% ? 

-qq; � � 1 Q'. if 3 � � I � 
1 (;'. if � i)fthqj � � iffi 50% m'l 
m- ? 
(A) 1 (B) 1.5 
(C) 2 (D) 2.5 

[ P.T.O. 
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